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4 HHome % K Visiting < i ie(10) > gF IMP % e VP e VP T 2 RO:1 ~9 &% RO : 10 ~ 18 34

38 (34 33 (4 AR AE | BV | AgH | BBV | AgE ERV |2mE| 2RV G2 Wt AP COP | #¢ | % [ 34 EN CoP
4 y 1] 1 Oceans 10 25 1 16.78 | 3.22 | 122.25 | 91.97 1 8 4 yi1E] 122.25 10 | 6 | mEmREs | 87.49

8 2FER 18 PR 10 10 31 | 3.82 |16.18 | 94.32 | 120.93 7 2 18 R 120.93 1| 2 B 87.07

7 1y 15 Ey- 10 13 17 | 8.50 |11.50 [ 113.03 | 113.39 4 3 15 T 113.39 12 | 12 | ZEiRE | 82.97

5 =58 6 HEREREE 10 11 15 | 8.50 |11.50 [ 107.05 | 87.49 5 | 10 7 it 113.03 13 | 17| -4y | 81.04 | -0.5
10 BR 14 T 10 20 20 | 10.00 |10.00 | 79.85 95.23 14 |6 5 =58 107.05 14 | 10 BR 79.85

2 £ 17 R 10 35 24 | 13.72 | 6.28 | 87.07 81.04 1| 13 14 HT 95.23 15 | 1 e 72.80

1 e 12 ES- v 10 17 67 | 0.00 |20.00 | 72.80 82.97 15 | 12 8 | EHER | 94.32 16 | 16 Tally 70.59

3 BREAL 9 Woods 10 14 41 | 2.66 |17.3¢ | s0.21 88.47 18| 9 1 Oceans 91.97 17 | 13 23 60.34

13 s 16 Tally 10 18 22 | 8.5 |[11.50 | 60.34 70.59 17 | 16 9 Voods 88.47 |-0.5] 18 | 3 BEAE | 50.21




